Precalculus
Review 6.3-6.5

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
Solve the problem.

1) For what values of 9 (0 = 8 < 27t} do maximum r-values occur on the graph of 1) @ = O )\ﬂ\
the polar equation r = 1+ 4 cos 20? Note that a maximum r-value occurs at a
point that is the maximum distance from the pole.
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2} For what values of 8 (0 = 0 < 27t) do maximum r-values occur on the graph of )t 'igt A
the polar equation r = 2 sin 40? Note that a maximum r-value occurs at a point ’
that is the maximum distance from the pole.
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Determine if the graph is symmetric about the x-axis, the y-axis, or the origin.

3)r=- sin B (verify using the test for symmetry) 3)
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Find an equivalent equation in polar coordinates.
4) x2+y2-4x=0
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Find an equivalent equation in rectangular coordinates. @(—-h) ¥ (,3"\4) =X
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Determine two pairs of polar coordinates for the point with 0" = 0 < 360", ("" %@ ' Q-L(DD\
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Analyze the graph of the given polar curve. Include the following information: If possible, describe the
shape of the graph (circle, rose curve, limacon, etc.), and state the domain, range, and maximum r-value of
the graph. State whether the graph is continuous and whether it is bounded. Describe any symmetry that
the graph has. Give the equations of any asymptotes or state that the graph has no asymptotes.
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12) r=-2cos 50 12)
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Eliminate the parameter.

13) x=Aft, y=2t +5 13)
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Solve the problem using a graphing calculator.
15) Determine the approximate distance that a baseball travels if it is thrown with 15}
a velocity of 116 feet per second at an angle of 10° relative to level ground.
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16) Determine whether a baseball hit 107 feet per second at an angle of 30° 16)
relative to level ground will clear a 10-foot wall 400 feet away.
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17) Determine which will travel farther: baseball x hit 97 feet per second at an 17)
angle of 35 relative to level ground or baseball y hit 127 feet per second at an

angle of 30"
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